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@ (bx—-y)+ (3x—2y) =8x—3y
@ (B5x®+x2—6x+7)—(2x3 —4x? 1) = 3x> + 5x2 — 6x + 8
@ (xy+xy* —x%) = (3x° — xy)
= 2xy + xy? — 4x?
@ (2+1)(3x2-2x-1)
=3xt-2x3 - 2% +2x -1
® (x> =302 -2y%) = (x+y) = x2 — xy— 2y?



S oA A, Boll Histe] A+3B=2x2-Tx—1,B—A =2x2-5x-7
i BE?

>
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DO —x+3 @ x-3 ® x>+x+3

@ x2-x-3 B 2-x+3



x of] 3t oha}4] 3x3y 4 by —xz+ 9xy — 4 ol thsto] o B 5
?

O WEA o2 st
3yx® + (9y — z)x + 5y — 4 °|th,
© o820z Helshy
5y — 4+ (9y — z)x + 3yx3 o]t}
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4. A =22+5xy-3LB = 42 —bxy +12,C = -2 + 42 o,
24— {B - (2C - 3A)} & 73] 5HA?

@ 8x% + 30xy — 24y? @ 8x% —30xy — 24y?
® —8x% + 30xy — 24y? @ —8x% + 10y?

® —8x% —10y?



5. oI A BA U A+B=-x>-2x> +4x+5,2A-B =

FUTA
4x* —x? —x+1 4 o, 7 o34 A, B E F5HH?
D A=x34+x>+x+2, B=-2x3-3x2+3x+3
@ A=x*-x2+x+2 B=-2x*-x2+3x+3
@ A=x>-x24+x-2, B=-203-x2+3x+7
@ A=x>-x2-x+2, B=-2x3-x>+5x+3

® A=3x3-3x24+3x4+6, B=-4x3+ x>+ x-1



6. AMEFHMA=x243x-2 B=3x2-2x+1,C =4x2+2x-3 |
tfj 5o

3A — {FA— (3B-4C)} + 2BE 7t3] 5pH?
@ 3x2+12x-13 @ -3x2+24x+21
@ 3x2-12x+21 @ —3x% - 24x+ 21

B 2 +12x+11



@ 3=

® 6xF

@ 7=

® 8z



, 2A + BE -oF= Aol A

2A + B = 2(a + 2b) + (2a + 3b)
= (2a + 4b) + (2a + 3b) @ HH
=2a+ (4b+2a)+3b © &
=2a+ (2a+4b)+3b © WS
= (2a + 2a) + (4b + 3b) @ 1'?
=(2+2a+(4+3)p O
=4a+7b
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(x+3
)(x+
2
) =(x+3)x+
(x+3
)x2

= (x2 +
3x) + (2x +
6)

X + +
(3x 2.x) +(;
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+5x+6
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10. k4] 5xy — yx? + 2x3 + 2yz2 of f

® xol A% syoltt,
@ x* 9] AgE= —yoltt.
@ xof tgt 3xp2lolot,
@ xofl thet 42 2yz? ot}

® v, zol digt 222 o]t}




